. PRESSURE VESSELS:
PACCESSORIES & SPARE

‘.

WATER PURIFICATION | TANKS & SYSTEMS




#» PENTAIR

111}]))

~
ey

HY
- i '__\ﬂ :
EETRTILELE s

1

INTRODUCTION

TABLE OF CONTENT

MATERIALS......c et r e e s n e s ne 5
POLYMERS .o..oeeoeeoeeereeerseoeseeeesoesseessoesseeeseeeseseseoeessessoessees oo 5
RUBBERS/ELASTOMERS .....ooccooeoeeeoeseoesoossenssssesssesssesssessoessossssesseeeseoe 6
METALS oeoeeoeeeeeeeesseesseeeseoeeseeeseesseeesoesseeeseeeseeeseoesesessoeesoes oo 6
WHAT IS WHAT ..o sees oot 7
SYMBOLS & ICONS .oo.ooeeeeeeeseerseeesseeeeessoes oo seeeseesseeeseoeeseressree oo 8

INSTRUCTION. ... s ms s s s s nm s nm s nmnnm e s T
INSTALLATION INSTRUCTIONS ..o oeeeosseesseesoeseesoes oo 9
FLANGE ASSEMBLY ...oo.oeeoeeeoeeeoeeeoesoesseesseesseeeseeeseoeseseesoee e 9
ASSEMBLY ..o seee oo oot 10

ACCESSORIES

CLOSURE & ADAPTERS
2.9" THREAD

2.5" CLOSURE PVC .....ooiuieisncsnssssssssssssssssssssssssssssssssssssssssssssssssssssssssans 11
4" THREAD
] 1 12
4" CLOSURE PVC....o.oomieuemmcemseesenseeseessessesssessss s ssssssessesssesssss s ssssssessnas 13
4" = 2.5" ADAPTER ...ooititrtsnisessessss st ssssss s sssssssssans 14
6" THREAD
6" CLOSURE PVC....iuiiieicseesessesssssssssssssssssssssssssesssssss s ssssssssssssssssans 15
6" FLANGE
6" BLINDFLANGE ......couviemeeeeeetseesessssssssssssssssssssss st essss s ssssssessans 16
6" BLINDFLANGE ULTRA PURE .......eotiinieniesisnsssssssssssssssssssssssssssssssans 17
6" FLANGE = 1.5 BSP......ooieeeeceteetectessssssssssssssssssssessessssssss s ssssssssssssans 18
6" FLANGE - 2.5" BUN .....oouuuirrirnsnssssssssssssssssssssssss s ssssssssssssssssssssssssssans 19
6" FLANGE = 4" BUN ....coumeereeceteetessessssssssssssssssss st sess s sssssssssans 20
6" FLANGE = DN65 ......oovuierctncsnssnsssssssssssssssssssssssssssssssssssssssssssssssssssssssans 21
6" FLANGE = DNBD .....oovemeereeeeeeesessessssssssssssssssssssssess s ssssssssssssans 22
6" FLANGE = DNT00 ....ooeoeercecscsessesssssssssssssssssssssssssssssssssssssssssssssssssssssans 23

WATER PURIFICATION TANKS & SYSTEMS 2




#» PENTAIR

INTRODUCTION

BLINDFLANGE
DNBO FLANGE .....occuuieiiesssscs st sssss s sssssssssssssssssssssssssnssans 24
DN65 FLANGE .....oootirienvincsssnesssssssssssssssssn s sssssssssssssssssssssssssssssssssssanssans 25
DNBO FLANGE .....occuuieirietnrecs st sssss st ssss s sssssssssssssssans 26
DNT00 FLANGE .....ccvuieitictctnes st ssssssssn st ssss s ssssssssssssssssssnssssanssans 27
DNT25 FLANGE ..ottt ssss s sssssssssssssssans 28
DN150 FLANGE .....ccvuieivirctntncsssssssssssesssn s ssss s ssssssssssssssssssnsssssnssans 29
DN200 FLANGE ..ottt sssssess s ssssss s sssssssssssssssssssssssans 30
DNAOD FLANGE ......ouvertictcrncssssss e ssssessn st ssss s sssssssssssssssnssnsssssnssans 31

DRAIN INSERTS

6" FLANGE
1" BSP OUTLET STANDARD ......ooiuuimunamreseesseesessesssssssssssssssssssssssssssssssanees 32
1"BSP OUTLET LOW FLOW ...ooveuceeceuceeeeseesseesensessssssssssssssesssessessesssessanees 33
1"BSP OUTLET HIGH FLOW ....ccouiuiiieneiecsseesess st sssssssssesssssssssessanees 34
SIGHT GLASS
SIGHTOLASS ....ooceeeeaeracesesseessessesssesssessss s sssssse s es s 35
VALVES
AERATION VALVES
1.5" AERATION VALVE ......ouiriiiniinsisssssssssssssssssssssss s sssssssssssssssssssssnssanees 36
ADAPTER FOR AERATION VALVE 1.5".....cooimiinrrneeissescsssesssessessssssssssnenss 37
2.5" VALVE
2.5" VALVE MANUAL VALVE - 3/4" INLET/OUTLET ....ooiemmrrermnrrrenereeeeessenens 38
TOOLS
WRENCHES
NOTCHED WRENCH FOR ADATORS .......oueumemeesensensensssssessssssesssesssenssenens 39
OCTOGON 2.5 ...t sess s 40
OCTOGON 4" ....ooeoreeeeescesemseeseesesssess s 41
WRENCH FOR MANUAL VALVE .......oruuiiiintenisnsisssssssssssssssssssssssssssssssenns 42
EXTENSIONS
EXTENSION 3/4 BSP ....ooevietieesinsessssss s ssssssssssssssssssssss s ssssssssssnssas 43
EXTENSION 2" BSP .....oreuueurrunersesesessesssesssesssesssessessessssssssssssssesssesssessesens 44
EXTENSION HOLDER 6-FOLD HUB.........cuuieeeeerccrcnsesesssssssssssssssssssessenens 45

WATER PURIFICATION TANKS & SYSTEMS 3



#» PENTAIR

INTRODUCTION

SPARE PARTS
HUBS & HUB CONNECTORS

HUB .t eeeetsssseeeeesssssse e sessss s 46
HUBCAP ..coortreetessseseessssssesssssssssse s sssssss s esssssee st ssssssssssssees 47
HUB ADAPTORS ..ccouuuereeeesssssaesessssssssessssssssssssessssssssssssssssssssssssssssssssssnsesseees 48
LATERAL cocvvoeeeeeeessssseeeeessssssseeesesssssssssesssessssssssesessessssssssssssssssssssssssssssssssseeees 49
DIFFUSOR evooecereesesssaseeessessssessssssssssesssessssssssesessessssssessssssssssssssssssssssnsnseses 50
UNTON eceooomeeeeeessssseeeeeesssssse e esss s 51
ELBOW wocvvvermseeeessessssseesessssssssessssssssss e sssssssse s esssssses s sssssssessssssssssssseses 52
SEALS
O RING c.cevvseeeeeeeessssseeeeeessssssee e eese s 53
FLAT SEAL....oetrveteessaeseessssssssessssssssssessssssssssssssssssssssessssssssssssssssssssssnsnseses 54

WATER PURIFICATION TANKS & SYSTEMS 4



#» PENTAIR

INTRODUCTION

MATERIALS

POLYMERS

POLYETHYLENE (PE)

PE is the material used for the inner lining of standard
Structural vessels and some closures and adaptors
found in this catalogue.

Typical proprerties:

e Lightweight

e High toughness and elongation before break
e Very low water absorption & permeability

¢ High resistance to attack by chemicals

e Resistance to environmental stress cracking

POLYPROPYLENE (PP)

Injection molded material for standard laterals, hubs
and hub adaptors

Typical proprerties:

e Similar properties as PE

e Higher temperature resistance then PE

e PP is Brittle when cold (below 10°C] (take car during
cold assembly).

GLASSFIBER REINFORCED
POLYPROPYLENE (PP-GF)

Injection molded material for high temperature later-
als, hub adaptors. PP-GF has much higher stiffness

then normal PP.

POLYPHENYLENEOXIDE (PPO]

Injection molded material for typical flanges and
flanged closures. PPO is used as a 30% glass-filled
product.

Typical proprerties:

e High dimensional stability

e High temperature resistance (up to 99°C]
¢ Good resistance to hydrolysis

e Self extinguishing, non-dripping

e Low water absorption

POLYVINYLIDENEFLUORIDE (PVDF)

Linings and components for ultra pure applications.
PVDF is a high-grade technical polymer with excellent
(chemical) properties.

Typical proprerties:
e High Toughness and elongation before break at high
and low temperatures.

e Very high resistance to attack by most chemicals
e Suitable for ultra pure applications =

e High mechanical strength. é

POLYVINYLCHLORIDE (PVC)

Widely used polymer for water transportation sys-
tems, but also other applications. PVC is one of the
world most used platics. Structural uses PVC in some
mechined and injection molded parts of the distribu-
tion systems.

Typical proprerties:

e High mechanical strengh, rigidity and hardness
e Low cold impact strength

e High chemical resistance

e Self extinguishing after removing ignition source

GLASSFIBER REINFORCED EPOXY (EP-GF)

Thermosetting material with a very high strength. Up
to 60% glass-filled this plastic approaches the strength
of aluminium, but has an even greater strength to
weight ratio. It is not intended to come in contact with
the contents of the vessel and is used as a reinforcing
element only.

Typical proprerties:
e Very high strength & durability

e Structure elements only

WATER PURIFICATION TANKS & SYSTEMS



#» PENTAIR

INTRODUCTION

RUBBERS/ELASTOMERS

ACRYLONITRILE BUTADIENE (NBR])

General purpose rubber compound

ETHYLENE-PROPYLENE-DIENE
TERPOLYMER (EPDM]

Rubber compound with a better chemical and thermal
resistance than standard NBR grade.

FLUOR-CARBON ELASTOMER (FPM]

Special grade (Viton ®) for specific applications. Suit-
able for most Ultra Pure or highly corrosive applica-
tions.

/N

METALS

STAINLESS STEEL (SS)

All bolts are made of A2 (1.4303-1.4301-1.4541) grade
stainless steel, all nuts, washers, spring washers etc.
are grade A4 (1.4401-1.4571).

TETRAFLUORETHYLENE/
HEXAFLUORPROPYLENE (FEP)

Very high performance O-ring material. FEP seals are
in fact made of a FPM inner core providing the neces-
sary flexibility, enveloped by a seamless Teflon ® (PFA]
cover.

Used where chemical, toxological and thermal proper-
ties are of the utmost importance.

=

ALUMINIUM (AL]

Lightweight and corrosion resistant metal for con-
struction of the flanges that are built in STRUCTURAL
pressure vessels

For specific chemical resistance of one or more materials
and agents, please contact our sales department. We will

be happy to give advise.

Please specify the chemical exactly, along with its concen-

tration & temperature.

WATER PURIFICATION TANKS & SYSTEMS



#» PENTAIR

111}]))

INTRODUCTION d
£

USER GUIDE

WHAT IS WHAT

o =

14" -16" - 18" 6" FLANGE

Adaptor
2 Diffusor

al o

- DNé5

n» |

075
o -H

7

0,125
I om
0,075
0.05
0,075 .
L
nom 2

- DN65
2.5" - 180mm

Il
mAh

anoo4n A0

A-3100-02C

A-2740--

~N o O &~ W N -

\ D<

A-3100-02C

A-2746--

A-2727-Fé A-2527-Fé

Diameter of vessel
Vessel connection
Exploded View
Dimensions

Pressure drop curve
Operating temperature

Type of installation

System connection

Type of lateral connection
Lateral slot size

Spare parts list
Minimum order quantity

Codes

WATER PURIFICATION

TANKS & SYSTEMS




#» PENTAIR

INTRODUCTION

SYMBOLS & ICONS

Bajonet system

Threated system

System or component suitable from 1°C up to 50°C

T
O
~—

System or component suitable from 1°C up to 65°C

=
HU‘\

Slotsize of 0.2 mm System or component suitable from 1°C up to 99°C

o—
-~ 3
=)

Slotsize of 0.3 mm

5 Q
]

e
e m O

Outward system connection

Slotsize of 0.5 mm Adaptor function from ... to ...

Slotsize of 12 mm

Glue connection

System or component for flanged vessels Spare parts

R =]

System or component for threaded vessels System or component suitable for ultra

Threaded or flanged closures Maximum torque specification

Threaded or flanged adapters Minimum order quantity

Drain inserts System for installation in top of threaded

Tools and assembly aids System for installation in bottom of threaded vessel

System for installation in top of flanged vessel System for installation in topthreaded vessel

System for installation in topflanged vessel with
sideholewith sidehole

System for installation in bottom of flanged
vessel

=
=
=
>+
&
)

EE -l

i
1

H

System for installation in topflanged vessel

WATER PURIFICATION TANKS & SYSTEMS 8



2 PENTAIR

INTRODUCTION

INSTRUCTION

INSTALLATION INSTRUCTIONS

¢ Please check parts on transport damage prior to assembly and installations.
e Protect the components from freezing 0°C (32°F).
e Pre-heating of the parts in warm water is recommended for assemblies below 10°C (50°F).

e Maximum torque to 5 Nm (3,69 ft.-lbs).

FLANGE ASSEMBLY

WATER PURIFICATION | TANKS & SYSTEMS



PENTAIR

© Y

INTRODUCTION

ASSEMBLY

Step 1: Unassembled parts with exten- Step 2: Parts shown in Step 1 are as- Step 3: Put assembly inside the tank to
sion [-WRO3-LA. sembled (outside of tank) and inserted  mount laterals.
in tank using extension [-WR03-LA.

Step 4: Screw all laterals in hub while Step 5: Screw flange adaptor on as- Step 6: Use backing flange to connect
still holding extension. sembly. Be sure O-ring is attached and  distribution system to 6" flange. Now
sealed properly to adaptor. remove extension.

WATER PURIFICATION TANKS & SYSTEMS 10



111}]))

?"7

)
I/=‘$) )

L

CLOSURES & ADAPTER e A

#» PENTAIR

2-5II IHREAD
50

82

2.5"-8NPSM

Part number
A-2751-1

2.5" -8NPSM é

1 Closure {
0-ring 66.27 x 3.53 mm 1 NBR A-2694-1
E A-2751-1C
1

TANKS & SYSTEMS

WATER PURIFICATION



#» PENTAIR

111}]))

CLOSURES & ADAPTER

DN 400 =

DN400 DN5O0

i
4x @18
on @125 - DN50
4
i A
T
— 63
16 x @27 on @515 - DN400
575
DN400 - DN50
1 g Flange Adapter DN50 - 063 mm A-3720-64
2 i Flange DN50 . PP-GF X-1V-IPN1
3 i Pipe © 063-178mm 1 PVC A-PVC-063
4 i Table Duct 063 mm P PVC © A5160-65C
5 | Flange DN400 E © LLDPE/GR-EP i A-MACH-DN4OO
6 | Bolt M24 x 130 P SS E AM24-130
7 i Washer M24 P sS © A-M24-RON
8 Spring Washer M24 16 5 A-M24-VRO
9 i Nut M24 Poqe SS P AM24-A
10 | Flat Seal DN400 1 NBR A-DN40-0D
=4

1

WATER PURIFICATION TANKS & SYSTEMS



#» PENTAIR

CLOSURES & ADAPTER

4" THREAD

osure 4"-8UN

escription Dimensions
cl

D
2

O-ring 98 x 4 mm

115

34

Part number
A-2752-1

(uantity
PP

1 P NBR I A-2694-3
g A-2752-1C
1

WATER PURIFICATION TANKS & SYSTEMS



#» PENTAIR

CLOSURES &

4" THREAD

111}]]))

ADAPTER

4

Description Dimensions (Quantity | Material
1 i Closure L 4" 8UN P L pve
2 i O-ring { 98x4 mm P { NBR i
1

TANKS & SYSTEMS

A-2752-2
A-2694-3

WATER PURIFICATION



/////////,

)
x\"‘\\\

-

W
/ ‘-w

J

#» PENTAIR

CLOSURES & ADAPTER & "R

6" THREAD
65
I

Part number

Descnpnon Dimensions [Juanhty Material
;cpvc A-2695-3F

Closure 6"-8UN
0-ring 155x5 mm 1 i NBR { A-2694-BF
E A-2695-3FC

1

WATER PURIFICATION TANKS & SYSTEMS



#» PENTAIR

///////

CLOSURES & ADAPTER

6" FLANGE — |

240 |

12x@8.5 - @215.9 —=
6"

M8 10 Nm

1 i 0O-ring 183.52 x 6.99 mm : A-2694-8F
2 Closure 6" 1 PPO A-085-0006
3 Backing Flange 6" 1 PPO A-085-0221
4 Bolt M8 x 75 12 SS A-M8-075
5 Nut M8 12 SS A-M8-A4
6 Washer M8 24 SS A-M8-RON
<

1

WATER PURIFICATION TANKS & SYSTEMS 16



#» PENTAIR

CLOSURES & ADAPTER

=| =2
6" FLANGE = | S
A

== 1
e
é S — | [ ——
==~ .
=
’\ = &

S| s
N

\
(¥}
45 4~—

W 12x@8.5 on ©@215.9
Nm

M8 - 10 Nm

Closure . . . A-3100-01A 3100-01A
2 0-ring 183.52 x 6.99 mm 1 FPM | A-2694-V8F A-2694-V8F
3 | Bolt M8 x 75 too12 Fss i A-8894-00 { A-8894-00
4 | Washer : M8 : 24 i SS i AMS-RON i A-MS-RON
5 Nut M8 P12 P Sss i AMB-A P A-MB-A

E A-3100-ALC A1-3100-ALC

WATER PURIFICATION TANKS & SYSTEMS 17



#» PENTAIR

111}]))

CLOSURES & ADAPTER

6" FLANGE

99{ 6" FLANGE
1 1.5" BSP

240
© 1.5"BSP o
™ <
7] 1 /}’l
I %_./E !
ﬂ 12x@8.5 - @215.9 —
Nm 6
M8 10 Nm

1 : 0-ring 183.52 x 6.99 mm . A-2694-8F
2 i Adapter 6" - 1.5"BSP 1 PRO A-085-0007
3 Backing Flange 6" 1 PPO A-085-0221
4 Bolt M8 x 75 12 SS A-M8-075
5 Nut M8 12 SS A-M8-A4
6 Washer M8 24 SS A-M8-RON
<

1

WATER PURIFICATION TANKS & SYSTEMS



#» PENTAIR

CLOSURES & ADAPTER

6" FLANGE = I‘

99 6" FLANGE
e 2.5" 8 NPSM

240

e ke

— - 2.5" [——

38
40

12x@08.5 - ©215.9 —=

6"

Mma 10 Nm

1T ¢ O-ring i 183.52x6.99 mm : : A-2694-8F
2 Adapter 6" -2.5" 1 PPO A-085-0009
3 Backing Flange 6" 1 PPO A-085-0221
4 i Bolt M8 x 75 P2 i oss o AMB-075
5 Nut M8 12 SS A-M8-A4
6 Washer M8 24 SS A-M8-RON
E A-3100-07C

1

WATER PURIFICATION TANKS & SYSTEMS 19



#» PENTAIR

111}]))

CLOSURES & ADAPTER

w7

4

E

£

3
““'xﬁ

6" FLANGE =) S

99 6" FLANGE -8 UN
“-8UN

240 -
[s0] o
o =T
T
| 27 i
4"
- 12x@8.5 - ©215.9 —=
o 6"
%
N |
Ma 10 Nm

T i O-ring i 183.52x6.99 mm : A-2694-8F

2 Adapter 6 4" Eo PPO A-085-0101

3 Backing Flange 6" 1 PPO A-085-0221

4 Bolt M8 x 75 12 SS A-M8-075

5 Nut M8 12 SS A-M8-A4

6 Washer M8 24 SS A-M8-RON
<

1

WATER PURIFICATION TANKS & SYSTEMS 20



#» PENTAIR

)W

(Ve
"V m///////

CLOSURES & ADAPTER

'

E

£

_‘-
« )

6" FLANGE —

99| 6" FLANGE
ﬂ 1 25" -8UN DN 65

240
3 ﬂ 25" |- S
- AJ U
4 4xM16 - 3145 F @
DNG5
23X L 1ox085- 2159 —=
Ma 10 Nm 6"
M16 40 Nm

0" - DNGb - 2.b"

at ke
1 ¢ O-ring 183.52 x 6.99 mm ? 1 A-2694-8F
2 Adapter 6" - DN65 1 PPO A-086-0000
3 Washer M16 : 4 i SS A-M16-RON
4 Spring Washer M16 4 SS A-M16-VRO
5 Nut M16 4 SS A-M16-Ad
6 Bolt M8 x 75 12 SS A-M8-075
7 Nut M8 12 SS A-M8-A4
8 Washer M8 24 SS A-M8-RON
9 Backing Flange 6" 1 PPO A-085-0221

=

1

WATER PURIFICATION TANKS & SYSTEMS 21



#» PENTAIR

)W

(Ve
"V m///////

CLOSURES & ADAPTER

'

E

£

_‘-
« )

6" FLANGE I‘
Cgerd I

38
.h_:-
40

Jo U

F&ms-meo# 3
DN80
2¥ L 1x@85-02159 — -
6"

M3 10 Nm
M16 40 Nm

1 ¢ O-ring i 183.52x6.99 mm 1 A-2694-8F
2 Adapter 6" - DN80 1 PPO A-086-0003
3 Washer M16 : 8 i 0SS A-M16-RON
4 Spring Washer M16 8 SS A-M16-VRO
5 Nut M16 8 SS A-M16-A4
6 Bolt M8 x 75 12 SS A-M8-075
7 Nut M8 12 SS A-M8-A4
8 Washer M8 24 SS A-M8-RON
9 Backing Flange 6" 1 PPO A-085-0221
Wl A-i0-ac

1

WATER PURIFICATION TANKS & SYSTEMS 22



#» PENTAIR

111]}))

w17

CLOSURES & ADAPTER

|
L) 5% y

'
i« g))

) | ==

6" FLANGE

6" FLANGE

el
250

12x@8.5 - @215.9

4" —] ©
ﬁ 2

— 1 T |l
\DUUUQ/ o N UU RU Uui

=

== 7 %

E__L Nm %
— g M8 10 Nm 8x@M16 - @180

DN100

6"-ON100-4"

Part number

1§ 0-ring 183.52 x 6.99 mm 1 A-2694-8F
2 Adapter 6" - DN100 1 PPO A-3100-100
3 i Washer M16 g8 i sS A-M16-RON
4 Spring Washer M16 8 SS A-M16-VRO
5 & Nut M16 g8 i ss A-M16-A4
6 i Nut M8 2 iss A-M8-A4
7§ Washer M8 2% i ss A-M8-RON
8 | Bolt M8 2 iss A-M8-075

1

g I

WATER PURIFICATION

TANKS & SYSTEMS



#» PENTAIR

CLOSURES & ADAPTER

BLINDFLANGE

111]]))

1

2 Sprlng Washer SS

3 Bolt SS

4 Washer SS

5 Blind Flange PP-GF/PVC

6 Seal NBR
4

1

A-M16-A4 A-M16-A4 A-M16-Ad A-M20-A4
A-M16-VRO A-M16-VRO A-M16-VRO A-M20-VRO
A-M16-90 A-M16-90 A-M16-90 A-M20-120
A-M16-RON A-M16-RON A-M16-RON A-M20-RON
AG-DN-50B AG-DN-80B AG-DN-10B A6-DN20-PPGF
A-2600-68 A-2600-71 A-2600-67 A-DN20-0D

4 8 8 8

19 19 20 46

145 160 180 295

AG-DN-50L

| AG-DN-80L

AG-DN-10L

A-3200-01C

24

WATER PURIFICATION

TANKS & SYSTEMS




#» PENTAIR

///////

CLOSURES & ADAPTER

BLINDFLANGE

AG-DN-50L

. AG-DN-80L |

1 A-M16-A4 A-M16-A4 A-M16-A4 A-M20-A4
2 Sprlng Washer SS A-M16-VRO A-M16-VRO A-M16-VRO A-M20-VRO
3 Bolt SS A-M16-90 A-M16-90 A-M16-90 A-M20-120
4 g\/\/asher SS A-M16-RON A-M16-RON A-M16-RON A-M20-RON
5 Blind Flange PP-GF/PVC AG-DN-50B AG-DN-80B AG-DN-10B A-3742-00
6 Seal NBR A-2600-68 A-2600-71 A-2600-67 A-DN20-0D
E 4 8 8 8
19 19 20 46
! 145 160 180 295

AG-DN-10L

A-3200-01C

WATER PURIFICATION

TANKS & SYSTEMS

25



#» PENTAIR

CLOSURES & ADAPTER

BLINDFLANGE

///////

1

2 Sprmg Washer SS

3 Bolt SS

4 Washer SS

5 Blind Flange PP-GF/PVC

6 Seal NBR

I

1

16-Ad
A-M16-VRO

A-M16-90
A-M16-RON
AG-DN-50B

A-2600-68

AG-DN-50L

A-M16-A4
A-M16-VRO
A-M16-90
A-M16-RON
AG-DN-80B
A-2600-71
8
19

. AG-DN-80L !

A-M16-A4
A-M16-VRO

A-M16-90
A-M16-RON
AG-DN-10B

A-2600-67

8
20

AG-DN-10L

A-M20-A4
A-M20-VRO
A-M20-120
A-M20-RON
A-3742-00
A-DN20-0D
8
46

A-3200-01C

WATER PURIFICATION

TANKS & SYSTEMS

26




#» PENTAIR

///////

CLOSURES & ADAPTER

BLINDFLANGE I

AG-DN-50L

AG-DN-80L

1 : A-M16-A4 A-M16-A4 A-M16-A4 A-M20-A4
2 Sprmg Washer SS A-M16-VRO A-M16-VRO A-M16-VRO A-M20-VRO
3 Bolt : SS A-M16-90 A-M16-90 A-M16-90 A-M20-120
4 iWasher SS A-M16-RON A-M16-RON A-M16-RON A-M20-RON
5 Blind Flange PP-GF/PVC AG-DN-50B AG-DN-80B AG-DN-10B A-3742-00
6 Seal NBR A-2600-68 A-2600-71 A-2600-67 A-DN20-0D

E 4 8 8 8

19 19 20 46

! 145 160 180 295

185 200 220 340

AG-DN-10L

A-3200-01C

WATER PURIFICATION

TANKS & SYSTEMS

27



#» PENTAIR

///////

CLOSURES & ADAPTER

BLINDFLANGE

AG-DN-50L

AG-DN-80L

1 A-M16-Ak A-M16-Ak A-M16-Ab A-M20-Ab
2 Sprmg Washer SS A-M16-VRO A-M16-VRO A-M16-VRO A-M20-VRO
3 Bolt sS A-M16-90 A-M16-90 A-M16-90 A-M20-120
4 Washer sS A-M16-RON A-M16-RON A-M16-RON A-M20-RON
5 Blind Flange PP-GF/PVC |  AG-DN-508 AG-DN-80B AG-DN-10B A-3742-00
6 Seal NBR A-2600-68 A-2600-71 A-2600-67 A-DN20-0D
4 8 8 8
E 19 19 20 46
L 145 160 180 295

AG-DN-10L

A-3200-01C

WATER PURIFICATION

TANKS & SYSTEMS

28



#» PENTAIR

CLOSURES & ADAPTER

BLINDFLANGE

111]]))

1

2
3
4
5
6

Sprmg Washer

:  Bolt
Washer
Blind Flange
Seal

P A-M16-AL
ss f AMISVRO
sS A-M16-90
sS { AMI6-RON

PP-GF |  AG-DN-508
NBR A-2600-68
4
E 19
! 145

AG-DN-50L

16-Ad
A-M16-VRO
A-M16-90
A-M16-RON
AG-DN-80B
A-2600-71
8
19
160
200

AG-DN-80L

A-M16-A4 A-M20-A4
A-M16-VRO A-M20-VRO
A-M16-90 A-M20-120
A-M16-RON A-M20-RON
AG-DN-10B AG-DN-20PPGF
A-2600-67 A-DN20-0D

8 8

20 41

180 295

220 340

AG-DN-10L

A-3200-02C

WATER PURIFICATION

TANKS & SYSTEMS

29




#» PENTAIR

///////

CLOSURES & ADAPTER

BLINDFLANGE

AG-DN-50L

AG-DN-80L

AG-DN-10L

1 A-M16-A4 A-M16-A4 A-M16-A4 A-M20-A4
2 Sprmg Washer SS A-M16-VRO A-M16-VRO A-M16-VRO A-M20-VRO
3 Bolt SS A-M16-90 A-M16-90 A-M16-90 A-M20-120
4 iWasher SS A-M16-RON A-M16-RON A-M16-RON A-M20-RON
5 Blind Flange PP-GF/PVC AG-DN-50B AG-DN-80B AG-DN-10B A-3742-00
6 Seal NBR A-2600-68 A-2600-71 A-2600-67 A-DN20-0D

4 8 8 8

E 19 19 20 46

1 145 160 180 295

185 200 220 340

A-3200-01C

WATER PURIFICATION

TANKS & SYSTEMS

30



#» PENTAIR

111]]))

<D

CLOSURES & ADAPTER

)

¥
=
=
=
s,
)

BLINDFLANGE

: L OAMIGAL P AMIGAL P AMISAL G A-M20-A
2 Sprmg Washer ss A-M16-VRO A-M16-VRO AMI6VRO i A-M20-VRO
3 iBolt ss A-M16-90 A-M16-90 AMIE90 i AM20-120
4 | Washer {55 i AMIGRON i AMI6SRON i AMIGRON |  A-M20-RON
5 iBlindFlange | PP-GF | AG-DN-50B | AG-DN-80B : AG-DN-10B | AG-DN-20PPGF

6 | Seal © NBR | A-2600-68 | A2600-71 |  A-2600-67 |  A-DN20-0D

4 19 19 20 41

1 145 160 180 295

185 200 220 340

AG-DN-50L | AG-DN-80L @ AG-DN-10L | A-3200-02C

WATER PURIFICATION TANKS & SYSTEMS 31



#» PENTAIR

DRAIN INSERTS

6" FLANGE =end

l"=E0

1" BSP
204 -
|
’— 150 Wl ©
o [aY]
7 |
;-r I
|
]I T
L~ i T
>
- | 130
Ma 10 Nm o
1"BSP 10 Nm w
5 m

: P . NBR |

1§ O-ring L 18352x6.99mm | : A-2694-8F
2 i Draininsert 6"-1"BSP 1 i PPO i A-085-0002
3 i Nut M8 RV i sS A-M8-Ak
4 i Washer M8 P2 i sS A-M8-RON
5 i Bolt M8 x 120 L1 S A-M8-120
E A-DRAIN-1BSP
1

WATER PURIFICATION TANKS & SYSTEMS 32



#» PENTAIR

DRAIN INSERTS

6" FLANGE

1" BSP
204 |
150 |
W 2.5" T ©
(e} (o]
I |
iz Dz a8
= L
25" f—e| 35
Py ‘ )
Nm | 130 is
M8 10 Nm -

1 i ppo

1 Prolongation § 2.5" - 50mm E A-3100-04C
2 i 0O-ring i 18352x6.99mm i i NBR i A-2694-8F
3 i Draininsert 4"-1"BSP 1 © ppo A-085-0002
4 Nut M8 o PSS A-M8-A

5 Washer M8 24 SS A-M8-RON
6 Bolt M8 x 120 12 SS A-M8-120

=
1

WATER PURIFICATION TANKS & SYSTEMS 33



#» PENTAIR

DRAIN INSERTS

6" FLANGE —

1
B

35
‘ o
w
L 10 Nm
4" 10 Nm | 130 En
1"BSP 10 Nm -

4

1§ Prolongation : 4" = 50mm : A-3100-05C
2 0-ring 183.52 x 6.99 mm 1 NBR A-2694-8F
3 Drain insert 6"-1"BSP 1 PPO A-085-0002
4 Nut M8 12 SS A-M8-A4
5 Washer M8 24 SS A-M8-RON
6 Bolt M8 x 120 12 SS A-M8-120
=

1

WATER PURIFICATION TANKS & SYSTEMS 34



#» PENTAIR

olGHT GLASS

SIGHTGLASS

111}]))

w7
)

=)

'@Q

1

2 Spring Water 8 SS

3 Bolt 8 : SS

4 Washer 16 SS

5 Backing Flange 1 PP-GF

6 Seal 1 NBR

7 Sightglass 1 GLASS
<

1

DNBO

A-M16-Ad
A-M16-VRO
A-M16-110
A-M16-RON
X-1V-1P80
A-2600-71
A-KIJK-80
45
100
200
160

A-SGHT-DN8O0

A-M16-A4
A-M16-VRO
A-M16-110
A-M16-RON
X-0D-N101
A-2600-67
A-KIJK-100
45
115
220
180

A-SGHT-DN100

WATER PURIFICATION

TANKS & SYSTEMS

35




2 PENTAIR

VALVES

AERATION VALVE

22mm A n Bar Bar
1 nle 4 016 ——— 012 —

EEE R | e ] Hot |
~ a— d I 010 g |
=~ [ | 0.14 || | 1mE |
o - 55 o I { 0.08 || I /

] =—— 0142 || 2t IR /
B F— = I 0.06 /
° I o /

o E 0.10 0.04

2 44

008 / 0.02 /
35 /
30 60 0 30 60
m¢h mé/h
AERATION VALVE
o
e

v

ez
=z
33

Thread A Thread B Material

ﬂ _ 1/2" BSP 1/2" BSP PP-GF/EPDM A-AV-150PP
1 ¢ .

1/2" NPT 11/2" NPT PP-GF/EPDM
W — 1/2" BSP 11/2" BSP PVDF/FPM A-AV-150PVDF
ﬂ -\ .. . ;

1/2" NPT . 1/2" NPT PVDF/FPM

WATER PURIFICATION TANKS & SYSTEMS 36



2 PENTAIR

R
=z 1/11]]]]}))

VALVES

¥

B

=

E

_11 ﬂﬂ
Y

&

AERATION VALVE

*| 11/2" BSP |k
!
e
< 55
; =]
\ / 2
/ 7
— 17 ‘
%
2 /I

ADAPTER FOR AERATION VALVE

D ‘

48mm 11/2" BSP - 48 mm PVC A-AV-AD48

50mm 11/2"BSP-50mm | PVC A-AV-AD50

WATER PURIFICATION TANKS & SYSTEMS 37



2 PENTAIR

VALVES

2.5" VALVE Q

[/fw% |

a‘ 2 1/2"-8NPSM L

=

L 3/4"BSP

MANUAL VALVE

50 .
{ C 2.5" - 8 NPSM 3/4" BSP

A-ANA-25-G3/4

Thread A Thread B
: PP

WATER PURIFICATION TANKS & SYSTEMS 38



2 PENTAIR

100Ls

WRENCHES

—‘meW 3
@7#L

NOTCHED WRENCH FOR ADAPTERS

Notched wrench for adapters @1 ?g i ?Zé 5 .

F i ot runber

g I-WR01-AD

1

WATER PURIFICATION TANKS & SYSTEMS 39



2 PENTAIR

111}]]))

)
%),

100Ls

WRENCHES

il
i

i
1

! 280 !

OCTOGONAL WRENCH FOR ADAPTERS
2.5" - 84 MM

FM il art e
1

¢ Octagonal wrench for adapters ! -84 mm [-WR05-AD

g I-WR05-AD

1

WATER PURIFICATION TANKS & SYSTEMS 40



2 PENTAIR

100Ls

WRENCHES

OCTOGONAL WRENCH FOR ADAPTERS
4" -116 MM

L

1 Octagonal wrench for adapters 4" - 116 mm [-WR06-AD

g

WATER PURIFICATION TANKS & SYSTEMS 41



2 PENTAIR

111}]]))

100Ls

)

& &
O
% \\\\\
e m
9)

%
A
7

(77

-

WRENCHES

%

A

WRENCH FOR MANUAL VALVE

iy

Wrench for manual valv A-ANA-S

@m

WATER PURIFICATION TANKS & SYSTEMS 42



2 PENTAIR

111}]]))

100Ls
EXTENSION

545
R
e % .
m
s
>
_*_ =_=n‘
h 1

_1— c==1

EXTENSION

3/4" BSP

I

1 | Extension 3/4" BSP L STEEL |-WR03-LA

=
1

WATER PURIFICATION TANKS & SYSTEMS 43



2 PENTAIR

111}]))

?"7

1001 o
‘AW‘“ .,.mul ;
EXTENSION

~
350
x
o
@ | )
} L

EXTENSION
2" BSP

iy

Extension 2" BSP STEEL [-WR02-LA

=
1

WATER PURIFICATION TANKS & SYSTEMS 4



2 PENTAIR

111}]]))

100Ls

EXTENSION

_:\I
4
e .
o o r\l—:: \
g Ire) [.;‘::_' J'-'
f 7 =
T
| 400 |
EXTENSION
6-8 HUBS

iy

1 Extension 6-8-HUBS STEEL |-WRO04-LA

I-WR04-LA
52 _
1

WATER PURIFICATION TANKS & SYSTEMS 45



2 PENTAIR

OPARE PARTS

w‘ a5 ¥

|28
A
HUB 5
EE i i 2" BSP 3” BSP
| 2 E
1‘ _*7 - fi’ % - ;(E\{ 3
e OO = | o
| |
* " | |
- e 25-8NPSM i | - 47 - 8UN
97 o 119

33

1 ¢ : Hub (¢) : PP AB-H60-00
T

P Hub (6] PP ATD-H60-00

, 65, :

s 1 ¢ :

Hub (8) PP ATD-H80-00
@ 99 Hub (6) i PP-GF ATD3-H60-00

5 = Hub (8] i PP-GF ATD3-H80-00

(h99 = i Hub (6] i PVDF ATD1-H60-00

IKIr:-y

Hub (8) i pVDF ATD1-H80-00

WATER PURIFICATION TANKS & SYSTEMS 46



2 PENTAIR

OPARE PARTS

Th
HUBCAP -

1 - =

S

P 0 = %

p=d N — )

0 o o

o ol - T

(oY I

1 =
T =
& N

1§ 25"-8NPSM AC-H60-00 i  AC3-Hé0-00 i AC1-H60-00

2 | 27BSP AD-H60-00 i AD3-H60-00 | AD1-H60-00

3 | 3"BSP-3/4"BSP A-BTC8-30 | A3-BTC8-30 | A1-BTC08-30

4 i 4"-8UN AD-H80-00 AD3-H80-00 AD1-H80-00

WATER PURIFICATION TANKS & SYSTEMS 47



2 PENTAIR

OPARE PARTS

HUBADAPTER ==

-5

L = —
% % - S— ] ﬂ_
o | = 3 8 = | 3

L) LS —

-1 =
— =] —

=

. N
= alR o
] :[E w o &3
= :[L ™

—IE |

—l=
— =]

1§ 25"-8NPSM/3"BSP AB-C08-30* AB3-C08-30 AB1-C08-30
2 3"BSP /4" -8 UN AB-C08-40* AB3-C08-40 AB1-C08-40
3 2" BSP /D =50mm A-2600-63 : |

3 2" BSP /D =60mm A-1075-1

3 2" BSP/D=63mm A-1074-1

4 3" BSP/90mm AB-GC8-30

WATER PURIFICATION TANKS & SYSTEMS 48



2 PENTAIR

OPARE PARTS

LATERAL

o
X
S
]
=

PP-GF
PPO

Black

113 A-BT02-113 A-BT05-113 A-TH02-113 A-THO05-113 ¢ A3-TH02-113 A1-TH02-113 6
175 A-BT02-175 A-BT05-175 A-TH02-175 A-THO05-175 A3-TH02-175 A1-TH02-175 6
268 A-BT02-268 A-BT05-268 A-TH02-268 A-TH05-268 A3-TH02-268 A1-THO02-268 6
330 A-BT02-330 A-BT05-330 A-TH02-330 A-THO05-330 A3-TH02-330 A1-TH02-330 6
361 - : - A-TH02-361 A-TH05-361 A3-TH02-361 A1-THO02-361 8
423 = = A-TH02-423 A-THO05-423 A3-TH02-423 A1-TH02-423 8
485 - - A-TH02-485 A-TH05-485 A3-TH02-485 A1-THO02-485 8
il - - A-TH02-515 A-TH05-515 A3-TH02-515 A1-TH02-515 8
578 - - A-TH02-578 A-TH05-578 : A3-TH02-578 A1-TH02-578 8
49

WATER PURIFICATION

TANKS & SYSTEMS



2 PENTAIR

OPARE PARTS

DIFFUSOR ==

17 (mm)
Thread

2" BSP Pog50 (30 P L A2m21-26 : P
2BSP | o0 a0 {180 | A272180 | A260065 | A1-2742BSP | 1
25" gNPSM i 2BSP 20 © o180 | A2740- 1 A6 i AI2740- G 1
25"-8NPSM | 2'BSP {20 s : L A2746-338 i

WATER PURIFICATION TANKS & SYSTEMS 50



2 PENTAIR

OPARE PARTS

UNION

L—— 2 3/4" BSP ——‘

i Collat A-8250-63
2 Union nut A-8200-63

g A-8200-63C
5

WATER PURIFICATION TANKS & SYSTEMS o



2 PENTAIR

OPARE PARTS

ELBOW ==

: O-ring A-2694- A-2694-17
2 | Elbow PVC A-2700-- A-2693--
g A-2700-C A-2693-C
5

I . NBR 17

WATER PURIFICATION TANKS & SYSTEMS 52



2 PENTAIR

OPARE PARTS

O'RING ==

Di

NBR

5652 i 533 i AS331 | A-2694-60 i - - ] P20
6604 | 533 i AS3U L A-2694-17 : : ) Y
68 | 353 1 - : DoA26941 : : L 20
98 i o4 i EoA26943 . . . E o0
Mo P4 - L OA694-3F - - - L 20
s o5 b f A2694-BF : ) ) Y
14566 © 353 i AS256 | A2694-19 i . . . P20
18352 | 699 | AS42 | A-2694-8F | . L A94VBF | A-2694-FBF | 20

WATER PURIFICATION TANKS & SYSTEMS 53



2 PENTAIR

* YLl

OPARE PARTS

FLAT SEAL

D

d

O
- | —~STEEL - STAHL - ACIER

ON

DINZ690 Part Number

DNSO . 4 A-2600-68
BNGS ¢ 127 Eo7 4 -

DN8O | 142 Y 4 A-2600-71
DN10O | 162 EET: 5 A-2600-67
DN125 i 192 Eu 5 -

DN1SO | 218 E e 5 A-DN15-0D
DN200 | 273 F 200 6 A-DN20-0D
DN300 | 378 L 305 6 A-DN30-0D
DNAOD 490 % 7 A-DN40-0D

WATER PURIFICATION TANKS & SYSTEMS 54



By phone

ercial support Tel. +41 21 623 69 69

ommercial.prfemealdpentair.com

al support
ort.water@pentair.com

al@pentair.com

MKT-BRO-035-EN-A



	Assembly
	flange assembly
	INSTALLATION INSTRUCTIONS
	symbols & icons
	instruction

	METALS
	user guide

	RUBBERS/ELASTOMERS
	POLYMERS
	MATERIALS
	what is what
	2.5" thread
	DN 400
	4" thread
	4" thread
	6" thread
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	Blindflange
	blindflange
	blindflange
	blindflange
	blindflange
	blindflange
	blindflange
	6" flange
	6" flange
	6" flange
	sightglass
	AERATION VALVE
	AERATION VALVE
	2.5" VALVE
	WRENCHES
	WRENCHES
	WRENCHES
	WRENCHES
	EXTENSION
	EXTENSION
	EXTENSION
	hub
	hubcap
	hubadapter
	lateral
	diffusor
	union
	elbow
	o'ring
	flat seal
	contact_EN.pdf
	Assembly
	flange assembly
	INSTALLATION INSTRUCTIONS
	symbols & icons
	instruction

	METALS
	user guide

	RUBBERS/ELASTOMERS
	POLYMERS
	MATERIALS
	what is what
	2.5" thread
	DN 400
	4" thread
	4" thread
	6" thread
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	6" flange
	Blindflange
	blindflange
	blindflange
	blindflange
	blindflange
	blindflange
	blindflange
	6" flange
	6" flange
	6" flange
	sightglass
	AERATION VALVE
	AERATION VALVE
	2.5" VALVE
	WRENCHES
	WRENCHES
	WRENCHES
	WRENCHES
	EXTENSION
	EXTENSION
	EXTENSION
	hub
	hubcap
	hubadapter
	lateral
	diffusor
	union
	elbow
	o'ring
	flat seal


